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EHRRBEIASZER
<HBZEEFRICBITOHOREICEET 2EE>
(1) RALEBAEICHED2EMREDES KFHEORBEIBEISA
H30&EE | RTHE | R2FE R3FEE RAFE REEE
= 40.4% 36.1% 42.4% 41.2% 42.9% 40.6%
BB 38.3% 36.4% 38.6% 41.4% 40.7% 44.1%
2K 39.4% 36.3% 40.6% 41.3% 41.6% 42.3%
(2) RARBZHRERVEREEZEAZELSICHOILEEES XNKFSEREIEEIE0
H30&EE | RTHE | R2FE R3FEE RAFE REEE
= 37.8% 42.3% 40.6% 36.5% 37.5% 38.1%
BB 36.4% 34.1% 38.6% 36.2% 33.6% 31.8%
2K 37.5% 40.5% 40.2% 36.4% 36.5% 36.8%

(3) BHEE (AFARRMHLUL)

CHED2RUEBEDE S - FEBREICHHSLEBEDE S
KT RHEOEBIEFEISZRUR

RTEE | R2EFE RIGFE R4 RO RO AL
EEBE A 8.2% 7.2% 9.0% 10.7% 10.0% 9.4%
ARMERL L 17.7% 18.7% 20.1% 20.7% 21.6% 22.2%
REHRU L 24.2% 24.7% 25.9% 27.0% 27.9% 28.0%

<BELFLRELFTLOMIICET 2PHREORMBEHT 2EE>
(1) BE—A—RHY ORRNEFHERE# (h)

KT HEORBIEB2S K

H30&E | RTHE R2FRE R3FE RAFRE RoFE
By [ 97 80 745 B P 4 11.6 17.2 18.8 20.8 19.1 17.0
(2) BRAERGER VRGHRO S MR KIFHEORBIRE2S0
(B RAERSE]
H30&E | RTHE R2FE R3FE RAFRE RoFE
Bt 15.9% 25.6% 35.7% 52.3% 65.4% 85.7%
ik 100.0% 100.0% 100.0% 100.0% 100.0% 100.0%

(BERAEXORGHEOSMKR (R6FE (ROFEIZERF) ) ]

BHEEE OFKRIERR

7.7% 2:6%

!

28.2%

= ~1ALTF
3AEB~6AUT

61.5%

= 1HHB~3ALUT
s6AB~12ALUT

TR S DT ARERGFIKR

6.7% 5.0%

Qi

25.0%

55.0%

s 1AE~6ALUT =6AE~12ALUT
= 18A~24ALUT =24A18

12AHB~18AUT



